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2022 is as under .
The Balance Sheet of AB Ltd. as on March 31

¥
I. Equity and Liabilities
1. Shareholders’ Funds :
(a) Share Capital : ch.fully paid
16000 Equity Shares of €100 ea%w 16,00,09,
(b) Reserves and Surplus (\}9 M*Q ) 21,40,000
2. Non-Current Liabilities :
8% Debentures 28’00,000
Accrued Interest 140,009
3. Current Liabilities :
Sundry Creditors 9,00,009
Income Tax Liability 20,000
Total m
—
II. Assets
1. Non-Current Assets :
' Land, Building and Machinery 28,00,000
v 2. Current Assets :
Stock 2,00,000
Sundry Debtors 80,000
Investments 30,000
Cash at Bank 2,06,000
Cash in Hand 4,000
Total 33,20,000

The fixed assets are heavily overvalued, A scheme of reorganization was
prepared and passed. The salient points of the scheme are the following :

() Each share shall be sub-divided int : i es of
¢ 10 each Oj’ten fully paid Equity Shar

(ii) ;\.{)t;r S;lﬁh s;lxb-c.livision, each shareholder shall surrender to the company
o of his holding, for the PUrpose of re-issue to gepenture holders and

creditors so far as r €quired and otherwise for Tlation
= cance

(i) Of those surrendereq 100 o
. 3 000 E ui cach Shau
converted intd 8% Preference Shar quity Sh of 710 for debenture
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(iv) The debenture holders’ total claim shaj |
will be satisfied by the issue of 100000 )pc
ot ikt el

fally paid

Jaim of sundry creditors shall b

v) The € : ) e reduc

shall be satisfied by allotting them Equity %ﬁ%ﬂnd_the_buluncq
shares surrendered es of ¥ 10 each fully paid

from the shares 77 ——==

d and not re-issued shall be cancelled
€

recuced ¢
efere Jl_lﬂ_gl\qlr_)()‘(),)r) Thin
" i
clerence Sharas of ¢ 10 ame)
ach

(i) Shares surrendere
eme is duly approved by all parties i

; 7 all parties interested and by th
Journal Entries{and Balance Sheet of the companyyaftei

ried into effect.
20

Assuming that the sch
Court, draft necessary
the scheme has been car

mmwaﬁaﬁmwﬁ%sﬁﬁﬁsommﬁ

(b) . :
%f?ﬂﬁ'@mlaﬂﬁﬁﬂmﬂﬁaﬁIOOOOWWW%IM%WQW
wﬁm%(wsﬁq—A@‘mﬂw~B),ﬁrﬁ@mmﬂqﬁmmmaﬁ

10000 AT &1 wefi—A ) TRt A W & 4,00,000 Bt 3R 10000 A H
__p & ot @ wf 9§ € 2,80,000

g ,zo,ooommmlmﬁamﬁm%

@ﬁ@nﬁﬂﬁﬂfﬂrwﬂ@

aﬁwﬁaﬁﬁ,wﬁmﬁmn

-

o) manuf;acturing company is planning to produce a product that ;
d of the product is estimated at

w A newly e_s_gglf

will be sold for ( 150 _per unid The deman

10000 _units per yeary The company has the choice of two machines .

ie., Machines—A and B), each of which has a capacity of cing

10000 unit pemchin ould have fixed costs of ﬁper

ez e profit G £ 5,00,000 per yearpn sale of 10000 ure
and would yield

g&m MachineZ—B would have fixed costs of ¢ 2,80,000 per year
f 3.20,000 per _year_on sale of \@WS Variable costs behave

0
lingarly for both mac ines. .
Calculate th at which me‘wﬂl\‘%
5 15
99
N
i

indifferent.
N

/
(c) v st S, 1961 % sigar Famwdy ferf A : :
' wmm%?m%ﬁﬁm@

afer 6 e TR g wer Ruffa i st 3, frar & ==t AT

ian Income-tax Act,

What is the relevance of residential status as per the Ind
f an individual is

10617 Discuss in detail h
: ow the i :
determined for income tax purposes resl‘z‘_‘tlal status ©0

15
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it @i (¥ 3)
veret Wt (¥ )
e W (€ )
e (¥ )
i =i (¥ 1)
A | ™ (%)

TRIRE =i % for
IR -NfsHT T (¥ )

S 5 407 2% ) T3 T i

e
Wm@%ﬁmw%lwm%mﬁ;ﬁm%wmm

Processes

A B

Particulars

Opening Stock (in ) 8,000 9,600

Direct Material (in @) +~16,000 | 16,800

Direct Wages (in ) .12,000 12,000
Overheads (in ) li,ZOO 4,800

Closing Stock (in ) | 4,000 4,800. -
Profit on Cost (%) 33% 25

Inter-process Profit for
. . 1,600
Opening Stock (in )

d
t and finished stock has been value

i i ere
Stocks in process are valued at prime cos s—C. Sales during the period W

20
at price at which it received from Proces

¥2,80,000.
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(b) o A’éﬁm,amww%,ﬁmﬁmw

v

o (fovrn Frrmren i
Tﬁﬁﬂﬂ% ) (¥ ) 38,00 T
WWW AT (? ﬁ) 40,00(0) = 36,000
g formn (¥ a) 50,000 45,000
arfed TR (7 ) _ 60,000
7 & AT Y T TR R (T ) Co0p 45000
oy < hfdem (T ) . 500 7,250
arf g R (<7 febeg 37em) (T A) 600 4,500

M % PRIV /g WH o R = (€ ) 22,500 750

o F R (33 g orem) (F ) 750 5;2?)0
o

flo A i F-Fufwr af 2022-23 H T wwg K
A 2022 H g, Sk WebH—I i Fmior 201251531113«17?@4%%'%; ﬁqh
AfEH % TEUHT % STgER FY I frn som? T

Mr. A, resident of Chennai, owns two houses, the particulars of which are as

under :

House—I House—I1
Standard Rent (under the Rent
Control Act). (in ©) ke e 38,000 36,000
Municipal Valuation (in ¥) . 40,000 45,000
Fair Rent (in: ¥) : 50,000 60,000
De facto Rent (in. @) . - 45,000
Municipal Taxes paid during
previous year (in ?) 6,000 .~ 7,250 i
Fire Insurance Premium (in ?) 500 4,500
Water Benefit Tax (due but ’ )
outstanding) (in ¥) . . 600 750
Interest on Loan taken to el
construct the house (in &)~ 22,500 5,750
Rent of Lease (due but
outstanding) (in ¥) 750 750
Use of Assets Self-occupied Rented for

Residence
-23.

Compute the Taxable Income of Mr. A for the Assessment Yean ()21022~2How

_17in 2
House—7 is constructed in February 2022, whereas House—1 IZiOns of the
Will the outcome of this situation be treated as per the provi 15

IrlCOme-tax Act?

" SKY [ P.T,O.
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AU (FAEINTE) it D o
-l iRl W ) S () it iy

5 X ,r"”;
i) < AN I Y e
(o A ol I Etall eAIRILY i ATpfy e -
\n audit is not essentially an investigation Why» B,
*An ¢ 5 . . L XDl
!“\““‘d““c followed in an investigation, Plain tp, Eeners|

I5
5 % 160000 IR % foqu & 0.
oW iﬁiﬁ%ﬁr“igm@a 160 ferg zsowﬁwaﬁm%wh’

e & wa—7 3 it IR

R % wE—F 4-50 i T (e % ar)

weell 7im "—F 2 Wfd IR

@0 @ R A w7 3 ¥R I

340000 IR} % e ame wmw ge, B 3 20000%%%?%%%1@@@1
ﬁmmﬁvwﬁWW|maﬁaﬁﬁ%mﬁ$mmﬁmwmﬁmmmaﬁ
T i RN A S 7 A TR % T G R o

wiw, Tt 4000 IR TEfea fhu e A, arEe why @
TEel HiM A T HA R I6h IR S R )

ug,shﬁs%ooﬁwﬁmmm,ﬁﬁmwmﬁﬁm@aﬂmﬁqqﬁ%m
36 I 1 od A o |

e Ty o R # A 4800 IR} A ?swﬁWﬁaﬁ@fmmmﬁmw,ﬁqﬁ
Fa & woft Wi I Wi )

MY ATES S (Tohe ) wlfaEt dfm)

A Limited invited applications for 160000 shares of & 10 each at a premium of
¥2:50 per share payable as follows :

YT Tt w1 ofn % o

On Application—% 3 per share

On Allotment— 4-50 per share (including premium)
On 1st Call—¥ 2 per share

On 2nd and Final Call—¢ 3 per share

Applications were received for 340000 shares, out of which applications for
20000 shares were rejected and money refunded to them. The allotment was

made pro rata to the remaining applicants. Money overpaid on application was
used against allotment money due,

Kapil to whom 4000 shares were allotted failed

to pay the allotment money and
on his subsequent failure to pay the first cal

1, his shares were forfeited.

Ramu, the holder of 2400 shares, failed to pay the two calls and his shares
were forfeited after the final call,

of t}3c forfeited shares, 4800 shareg Were re-issued at the rate of ¥ 8 per share
credited as fully paid,

including the whole of Kapil’s forfeited shares.

You are required to give the necessary Journal Entries, 20
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(b) W TN AR ¥ wu A Nam ) srauron w avis D) P ¥ Ao ger
€ i e s o R gern A ‘ e A A g

the concept of a division as an i
L A1V n independent it
profit centre. Com
. pare the

Discuss
Rate of Return Method with the Resid i
ovaluation of & ivision. ual Income Method of performance
15
(© mmmﬁw, 1961 % 3rgar fFrfafaa 6 saren i //1)7
) T | ¢V
(i) ety 3 T ST o IT TG A /7\./\
Explain the following as per the Indian Income-tax Act, 1961 :
(i) Gratuity
(i) Leave encashment at the time of retirement 9+6=15
@WUe—B / SECTION—B
5. PeffEd gwt A T H SW T 150 T=at # NG -
Answer the following questions in about 150 words each : 10x5=50
(@) 3o o e Ao-Fo o THo fream & = A ‘R verdiar forg’ ) I IAE TR
e Fif| | | v
Explain the Financial Indifference bint’ in the context of EBIT-EPS, analysis
by giving suitable example. W 16 X
(b) @ﬁm@wwﬁm%ﬁsﬁﬁﬁm%mﬁqﬁaﬁaﬁfm| (\\
What is meant by capital structure? Discuss the major detemﬁr\;nts of capital&\/\\
structure. wa e~
(c) Wﬂﬁ#ﬁﬁﬁn‘r&ﬁﬂﬁf%mﬁﬁmﬁml 40/\@\
Explain the objectives of monetary policy of the RBL
(d) {sﬂmw%i’ﬁmﬁm% afiier e & st AR A st R == AR
iscuss the role of capital market in the economic

What is capital market? D
development of a country.

(e) form (mk)wt?ﬁam%ﬁmmwavhﬁﬁml
What is merger? Explain various types of merger. (g (@}9‘

(‘X [P.T.O.
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(b)
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w ffes T AH-RHH Faon R B T T 1 e g
1%mws\ﬂbﬂwaﬂmw@%mmmmmw%ﬁﬁmﬁn iy
¢ 13,50,000; W& @ # € 4,50,000; EicEC RS zr;s : ?M
< 3 € 1,20,000 31K 371 W T 3 € 90,000 ) i gary ;%,SO,OOO?E'}Z
i e i T € 22,50,000 BR A @I R 3 g7 forg o | T
T ) ST Sl | g S e 5 A S §) Wﬁl:SO,ooomm
mﬁﬁeﬁwﬁﬁaeﬁﬁﬁaﬁ@mﬁﬁwmmm‘jﬁmm%m
¢ 4,50,000 | TR e A S TG F W ¥ 1,20,000 MT&ET n

RH

R 30% T AT Ffawd X 12%”@@?%@%%%@%
#

R FI T 31 7|
w T & Rre 12% & 59 % fg e aflo Tho 3605 2

Moon Ltd. wants to replace its_labour-intensive_manufacturing facil;
oject to install a machining system. It is estti}r,r.l 'It‘he
ate

It infa?nual savings of £ 13,50.000 in wage
cost, €1,50,000 in material losses duinsé %ﬂN

¥ 4,50,000  in supervisory
production, ¥ 1,20,000 in inventory cost and ¥ 90,000 in other operating costs

The machining system is likely to costCiZZ,S0,000 and will require an

installation cost of 1,50,000.Its useful life 15 estimated aiféﬁaﬁ To operate
the system, the company re ires the services of two trained opera@gn'@% W)

of ? 4,5Q,000 each. Jts annual repairs and maintenance cost is

ming that the corporate tax rate i§ 30% and the

annual sal
likely to b:&,Z0,000. s
required rate>of return i suggest Moon Ltd. whether it should accept the

project or- not. QQ "
oR
The PVF of an annuity @ 12% for 5 years is 3:605. @V 20

mm"mm@mmmmmﬁmxm%mamﬁm
Eil E 3 ‘
s;”é?*@ﬁ#ﬂawﬁﬁwﬁmﬁfﬁmm%l@ﬂﬁ

Tgaa e fashi—@ 87,81,500

feeh) < T W 3 T B TREH—309%

&l ) 4 s e o wrE—14 W
aazrﬁmaaﬁawﬁaﬁmw—7m

(fech AN % T 1) 3 erR—12 TR
Wﬁqmﬁfﬁ‘iﬁﬂﬁ@mﬁ#m 15% e &

company is evaluating a pr
that the system will resu

10




The following information has been extracted fromf the records of X Ltd
engaged in large- -scale_customer retailing. You afe requirem
apital requirements for the year 2022-23. One year c Kztitutes
T
17

Projected annual sales—¢ 87,81,500
Percentage of net profit on |cost of sales—30% s ‘@
Average credit allowed to debtoré—14 weeks\”
Average credit allowed by creditors—7 weeks (
Average inventory carrying fin terms of sales req rements)—i2 w@s

Add 15% of the computed figures to allow for gontingencies 15

ThRI W == I
15

What is a mutual fund? Discuss the types of mutual fund prevalent in India.
e

S

7. (a) 31 Wd, 2022 F FeRiREd ge- R e
: YN @ (ot

faerer
Jv e
I 3R TE ae @DW
1. SrRemes Ff
gl 9 gShl 5,00,000
10% ftmAM TR gft 1,00,000
st o TRy 92,000
. ITyaferd ST
12% U9 4,00,000
3. el aTfed
fafey oeR 1,00,000
S 40,000
e & ToIg e 1,00,000
P 13,32,000
II. gRemfaat
1. sryferd afeRfEr :
o} it
(a) 1@ qfgeaRA
T T weid 2,80,000
i & e 2,00,000
FTeR T Rl 1,56,000
6,36,000
g7 ; IR o foTg JIaHH 1,4}8,000
4,88,000
- SKyc-y-
 TU-CoMa/e 11 [P.T.O.



(i) i 3IgaT
(i) sy gwar 3T

(iv)
)

The following Balanc

mmﬁvﬁmwﬁﬁﬁﬁa@ﬁ
q\sna?nm(ﬁmﬁnmam

e Sheet is given as on

Particulars

1. Equity and Liabilities
1. Shareholders’ Funds :

SKYC-U-COMA/6

Equity Share Capital
10% Preference Share Capital
Reserves and Surplus
Non-Current Liabilities :

12% Debentures

Current Liabilities :

Sundry Creditors

Bills Payable

Provision for Income Tax

Total

12

80,000
3)00,000

4,40,000
4,000
20,000

31st March, 2022 :

Amount
(¢

5,00,000
1,00,000
92,000

4,00,000
1,00,000

40,000
1,00,000

Mt
13,32,000



Particulars Amount

¢
II. Assels
1. Non-Current Assets :
Fixed Assets :
(a) Tangible Assets :
Plant & Machinery 2,80,000
Land & Building 2,00,000
Furniture & Fittings 1,56,000
6,36,000
Less : Provision for Depreciation 1,48,000
4,88,000
(b) Intangible Assets :
Goodwill 80,000
Investments 3,00,000
2. Current Assets :
Current Assets 4,40,000
Prepaid Rent 4,000
Unamortized Preliminary Expenses 20,000

Total 13,32,000

From the given Balance Sheet, calculate the following :
i) Debt-equity Ratio

(i) Proprietary Ratio

(i) Solvency Ratio

(iv) Fixed Capital Ratio from Proprietary Capital

¢ . 20
(v) Capital Gearing Ratio
(b) W%mmmﬁwmwmé?%mmmﬁﬁmmﬁﬁm
What is the importance of Funds Flow Statement to the management? How is it s
different from a Cash Flow Statement?
(c) @ P (asftatﬁn)w‘e?mam, = e gimal i sren
What is credit rating? Discuss its objectives, functions and limitations. 15
[P.T.O.
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Qfmﬁiﬁ&@mhn s P € 24 SR T € 60 T B AR A €6
\¢

Ty

Lk
/X ST T € s v ad ) g FE w6 TR A e W“ﬁ‘?\mjnwg
V”"ﬁmmmma,mmw%lwaﬁmwﬁﬂ%ﬂﬁwmm;

e A 1w | 277 | 5w
30

ﬁﬁiﬁ@(%) — Z 6

ot } g o 0 v 1
Eﬁﬂnwﬁzs%ﬁaﬁmﬁﬁﬁﬁﬁ*mwmﬁ?l’oo’oooﬁ?ﬂﬁh
Ik 3w
T R A aw ¥ w0 H Ry 98- 20 o A T, TR R sy
SIERET RSTiY

ST wffRfte % x fefive % R we o SR A 7 2

- X Limited hagits present

unit., Vaﬁable«:osts.;af&t?ﬁn

nual sales amounting to
er unit and fixed costs amount to

annu

following estimates are made fo

Present credit period of pne mcm_hs proposed to b%ﬂn
either twer) or s whichever appears to be more profitable, The

r the purpose :

Credit Policy 1 month 2 months
\/ Increase in sales (%) — 8
Percent of bad debt to sales 1 2

Fixed costs will increase by 1,0
above 25% over the present level,

The company requires aﬁpre-tax return‘on investment o

0,000 annually after an increase in sales

\

level of risk involved, '~

What will be the most rewardin

<
above circumstances?
~ ——

(b) ?ﬁqaﬁmﬁq‘i%}saﬁﬁﬁmﬁﬁmw%:

Rat least 20%)for the

g credit policy in case of X Limited under the

plij

A Rifigs B fufRe C fafies
r=15% r=10% r=8%
k=10% k=10% k=10%
E=%10 E=%10 E=¢F10
— " | E=fio
et Aied 1 wam w
: % ST el et 2 s 5 e e o
T TN TR SR (1) 20%,

SKYC-U-COMA/6
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Using Walter’s model, y
Share of each of these o

and (i) 0%.

Details regarding th .
g g three \(Bmp/anles are given below :

A Limited B Limi
L
| — ] lmlte‘d // C Limited
r =15% rﬂ%/ r=8%
=8%
k=10%, k £10% k=10%
E=F10 A?lo E=F10

What is /venture capital?

) 1 &7 s 3 e % fog S

Explain the(functi

ou/ ar.e requiréd to calculate the value of an Equity
companiesWhen dividend payout ratio is () 20
/

various

stages of ven

—

An
>

%, (i) 50%

50 % T R A

ture capital for the
ture capital

gB24—648



